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Instructions:

» Programmable calculators are not allowed

» Provide your answers on the computer card only

* Return the computer card attached to the question sheet
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Problem 1
Find Rab-

CA))S Kohms
B) 8 Kohms
C) 10 Kohms
D) 20 Kohms
E) None of the above

Problem 2
Find C,,

A) 2.55nF
“B) 555nF
~C) 10 nF
D) 45 nF
E) None of the above
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Problem 3

What should the value of Ry, be to have maximum power transferred to it?

10v CP
L5

20Kohms

—W\

10v C)

25A Rt

10Kohms 20Kohms
£ i
A) 2.5 Kohms T/%/i———-r S
B) 5 Kohms H ia ;
{C) 310 Kohms =, I
D) 40 Kohms é Lgen ¢ T
E) None of the above % 7’ i
Problem 4
Solve for V.
20Kohms

— A

25mA 40Kohms
+
10v _)

10Kohms 20Kohms < Vo
B}

Vi-lo _ 25mA + V-l o
A), 182V ok 2 ek
(B) 1198V Lok et
€y -192v v 9F
D) 208V Vi
E) None of the above %ﬁ{; 7



Problem 5
What is the power associated with the current source?

25 il LAY
mA o 12w

220v C)

10Kohms

A) 5.50 W
B) -6.25W
C) 1055 W
(D)) -11.75 W
E)j None of the above

Problem 6

What is the mesh current equation for mesh 17
15Kohms 10H

30Kohms

20H
40Kohms
iz
ZOVCD
T~ 10Kohms
A) -2o+20K(z:1—i3)+10K(z;-i2)+20dfl?)+30£:;—=0
B) —-20+20K(, -4)+10K (G - l)”od((z;l) 30?1? 0
C) —20+20K(, —i,) +10K @ —i,) + 20—% 200 30% =0
/,’\ (l(l ) di
D) e—20+20K(11 5) 10K (G —4) + 20— 7=--30—2 =0

E) None of the above



Problem 7

—C—"\\\N—

5v  20Kohms

10Kohms

10v (_)

,,,,,,,

E) None of the above

Problem §

F

20v (_P v

+

4

- e,

Assume all currents and voltages in the circuit reached a (s(onstan Valti\ei‘f)What is the value of ir?

S I

5mA Q\P

20H —

10Kohms
. l

E) None of the above




Problem 9
20ohms y 100hms

4iy
10o0hms

10o0hms
10v d’)
200hms

Find 1.
e
A) 7.339 mA S Ly
B)-7.339 mA Vg = Vi Sz oo
fg)c 73.39 mA ““5/_}’“ 1o
1D)-73.39 mA o
None of the above \ Vo B by
- — iol
Problem 10 Vo= — otk
Find the Thevenin voltage across terminals a (+) and b ).
e_.
3ix
vy 20ochms v 10chms

10ohms
10v C>

A) 10V ; .
B) 20V V= il
D)-20V —_r
E) None of the above ;\@
Ug-Va



Problem 11

Find Thevenin resistance across terminals a and b.

50hms

VN
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)
>

20o0hms 10ohms 10v

VW NN ———)—

1Y)

100hms 10ohms

10chms
10v C)

A) 0 ohms

B) 19.16 ohms 25

Q{)WS . 3 8 Ohms P 71 S
//D)4.78 ohms %//Wm A, 1

E) None of the aboveﬁ. . ; S R [ Afk/\ww-g@gx/\ﬂ,wf

Problem 12 \ —— S

What is the total power absorbed in the following circuit? =

20Kohms
25mA 40Kohms
20Kohms

10Kohms

(Shasw h
B) 5.55 W Py .
C) 0.45 W g % T
D) 0.225 W 'S

E) None of the above




